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~ SECTION - A : MATHEMATICS (A3 -9

1 Jiif3 b . _
(1) Rational number o (2) Iqatibnal number
(3) Prime number e (4) Composite number
_ «/E +\/§ LB _ | '
(1) ossdas sowg (@) oo sowg
(3) s sowg () oo Homg

2 If 4={P,O,LY,T.E,C,H,N,I} and B={E,X,AM}, then AnB=
={P,0,L,Y,T,E,C,H,N,I} %8t B={E X, 4 M} w8, AnB=
1 {P} @) {E) 3) {X} @ {7}
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3 Product of zeroes of polynomial 5x2 -1 is

5x% —1 B st Gnty, drarge owin

| 1 1 2
M 1 @ 3 ) @) 3

4 (x+a) is a factor of f(x), if
(x+a) e88 f(x) BwE sdwrosDdS

W 7@=0 @ fla=0  ©F [‘3”’ O (_?1]“’

5 Among the non-terminating decimal is

111
374’5

N =

»

oD Hopgeod® wodosd SF0F0

W | —

e

-]

W | —

L
2

1 1 1 1
M 5 @ 3 @y @ 3

6 If ‘n’ is a prime number, then Jn is

(1) Prime number . (2) Composite number
(3) Rational number " (4) Irrational number
‘N BB a8 (57 Sopg wanB, Vn @86

(1) (S dowg (2) Sootny Howg

(3) wssBan vowg _ (4) 888> Homg

7 The HCF. of 7, 8 9 is
7, 8, 9 © K.0.5r. .
(1 9 (2) 7 3) 1 4 2
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®
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10

11

12

13

If 4={1,2,3,4,5} and B={4,5,6,7) then 4-B=___
A4={1,2,3,4,5} ®ootw B={4,5,6,7} w8, 4-B=

1 {1,2,3} ) {3,4,5) (3) {5,6,7} 4) {2,3,4}

The value of -logg,s5 is
loggys5 By deod

! ! L oL
(M) = @) A 3) 3 , () 3

If the equation _3x2 +2x+ k=0 has real roots then & is
3x2 +2x+ k=0 $&de0 TR dareren 0n ﬁ:&lﬁg k dend

1 1 : 1 : 1
— it <= k>—
U)k<3 @)k>3 (3) k=3 A9 3
The condition for ax”+bx+c=0 to be a quadratic equation is

o’ +bx+c=0 28 88 88500 SEBD ©JH Javddn 6 ?
(1) a#0,a,b,ceR 2) a=0,6=0,c#0

(3) a=0,b¢0,c¢0 (4) a:.b:c:o

Find the 10th term of A.P. 5,1,—3,—7..... is
5,1,-3,—7..... ©0¥ (@38 Bw&y. 10 $ Hesdw
(1) =31 (4 g1 - " (3) =27 (4) =35

If a,b,c are in G.P. then -g=

a,b,c e tH [BES® &) F, %=

b cn ? i 5 e
(1) - | (2) B (3) o 4) -
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14

15

16

17

18

19

If the I2““:l term and 5t term of a G.P. are 24, 81 then the r =
e (BBS® 2% x50 oo 5 Ho 24, 81 wond, r =

| 3
(1) 16 ) 3 (3 20 . (_4) 2

If a,p are the zeroes of the quadratic polYnomial ax® +bx+c,a#0 then
o+ Bz 22 ks

a? +bx+c,a%0 oS DETVHD ToEy, Erargen a,p @owd o +'|32= -----

) ‘;15(52 + 2ac) @ aiz(c2 + 2ab) ®) ;lz—(bz _ 2ac) @ :—2(02 " 2ab] |

If Sx+ py+8=0 .and 10x+15J;+12=0 has no solution, then p=' .....
5x+ py+8=0 wooxn 10x+15y+12=0 o RESTOH J¢H B, p Jewd ...

15 13 7 5

e — — 4 —
(1) 5 ) 5 3) 2 4) >

by

Which term of GP. +/3,3,3/3 ... is 729 ?
V3,3,33 ... 0ea(@8 &° @0, 729 Py Hesisn
(1) 10 (2) 12 3) 14 @ 16
The sum. of first ‘100’ natural numbers is
Bse3 < 100° Heres Domge oo _
(1) 2250 (2) 5100 . (3) 5000 (4) 5050

In the following equations, the line passing through (0, 0) is
(Bod 1S, (0, 0) roae B¢hehd) e |
(1) y=mx (2) y=mx-c (3) y=mx+c @) y=¢

SPACE FOR ROUGH WORK / & 98 $tronosads goin
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20

21

22

23

24

The solution of system. of equations —2-+i =13 and E—i =2 18w
x Y . & ¥
5 ,

—2-+i= 13 H»Boxn ——i= -2 od HREsere FES ...
xy x y

() w0) ol el
CRVEY @ \37 B) \a'3 ™ \52
"The line x=7 is .....
(1) parallel to x—axis . (2) parallel to y—axis -
(3) passes through origin (4) passes through (0, 7)
x=7 o B ...... _
(1) x—ogsods Srosssn () g0 HEPoSEsN
(3) dredodhd) Hoae Fdod 4) (0, 7) &3 Dot hoae DHd

If the roots of the quadratic equation px2 +gx+r=0, are equal, then q2

P2+ qx+r=0 55 $DE6m0 BuE) Mreres SErES, ¢ =
(1) 2pr (2) 3pr ' (3) 4pr 4) 8pr
" F3 T A

The sum of roots of the quadratic equation 3x2 —6x+1=0 is

352 —6x+1=0. 5% BVEGR0 BwEy, Hrere Idhn

(1) 2 @36 B3 - @3

If ax+b=0, then x= .....
ax+b=0 ®ond, x b .....

(1) —a _ . (2) a 3) —‘; 4) _g

SPACE FOR ROUGH WORK / ¢ 98 Seronosads gobn
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25 Thetwo lines 2x+3y 75 8x+12y ] are ___ lines.

(1) perpendicular (2) parallel © (3) intersecting . (4) none
2x+3y=7, 8x+12y=ledBpen . - 6a>eu s
@) eow 2) wsross B)wods .. 4 o=

26 If three points (8, 1), (k,—4) and (2,—5) are collinear, then k==
(8, 1), (k —4) 6o (2,25) Dothigen Bhoiren @B, k=
(1) 14 g ._._(2)'.3. v B2 f e @1

Tl £y TSI A

27 Diswnce between the points (4 8) (5 2)

s

(4.-9), (5 2) é)od)@e.)é)cﬁs érd:m A IS
R 0w ine @ o35 et BT e 0 @8l

28 .In' a trapezimﬁ ABCD with' 4B|| DC and diagonals i“nteréect edéh ‘other at the poih‘i
(). If AB= 2@;‘[), then the ratlo of areas of tnangles COD a.nd AOB 1S &
L&ﬁoﬁo ABCD,& AB||DC Bt a-aso»m ,:cs:gcso 02 e‘é&oﬁ:@wwo&oﬁaﬁ'om
AB= 2CD eacmé @e;basaﬁnw COD #dass AOB O FFogine KN ...
R O SR @ #: 1

wE. 5=

P

tj- O (_ SuAL o .' 3 al“)(. 4 -
e 29  AABC ~ADEF and their areas are respectively 81 cm2 and 225 cm?; if EF 5 em,
' _ihen BC = '
% (2) 9 em 3) 10 cm (42)5 cm
C ~ ADEF mam e Broergen it 81 5302, DB 225 $30.5.,

VET TS
R
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30 A circle with centre ‘O, ‘P’ is a point outside the circle and P4 and PB are two
tangents to the circle at the point of contacts ‘4’ and ‘B’ from ‘P’. If the length of
P4 = 10 cm, then the length of PB = '
(1) 5cm (2) 20em:, ' ' (3) 10 cm (4) 2.5 cm
‘O’ So|Ssurr Bo 5)Ed8 P’ oS Dot erirgins® o, ‘P’ Bothy hoa H)eeds ‘A’
Dot ‘B’ & 9)6) Dothipe $¢ Aavadd 3)5) Bpev PA ®0oxw PB. PA 4% =
10 2o.dv. wows, PB dH = .
(1) 5 0.D. (2) 20 %0.%. (3) 10 20.2. 4) 2.5 20..

31 A tangent AB at a point. ‘4’ of a circle of radius 7 cm meets a line through the centre
‘C’ at a point ‘B’ so that CB =.11 cm, then the length of 4B = .....

(1) V71 cm 2) 642 cm (3) 9 cm (4) 12 cm
7 20.2b. grdo &) Hed) 4B 9578 ‘A’ ¥ &°80b. H)8 Bogo ‘C” wod $3675
D Ko Dot ‘B’ 5% &rdo CB = 11 o.d. wond, AB PdH = .....
(1) V71 20D (2) 62 0. (3) 9 0. 4) 12 20.5.

32 The points of intersecti.on of the lines 2x+3y—5=0 and 3x—4y+1=0 lies in which
quadrant ? '

2x+3y-5=0 Sda 3x-4y+1=0 Bpeo podd Do) 2 Heos® dodkd ?
(1) I 2 1v (3) 1 ) @ I

33 In the given figure, PQI] BC.If AP=3 cm, BP=2 cmand CQ =3 cm, then 40 =
&1 |Bod 08" PQ|| BC. AP =3 %0.5., BP = 2 20.8.H8at CQ =3 0.0, wand, 4Q =

A

B C
(1) 4 cm (Do)  (2) 4.5 cm (0.D) (3) 3.5 cm (o) (4) 5 cm (0..)

SPACE FOR ROUGH WORK / 0 08 Semavoisads foi
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34

If the ratio of corresponding sides of two similar triangles is 4 : 9, then the ratio of
areas of these triangles is ....

Bodh B |Behere wHERS ghere A8 41 9 vand, & (Behare Jrergo WS ...
(1) 16 : 81 2) 4:9 (3)- 243 @) 23

35 Inthe given figure, Z4ADE = ZCBA, if AD=3.8 cm, A\E)— 3.6 cm, BE=2.1 cm and
BC=42 cm, then DE = )
&3 (800 d08°, LADE=ZCBA, AD=3.8 20.., AE<3.6 %0.2., BE=2.1 0.0.
200w BC =4.2 20.d. wond, DE = o}
I
A :
)
iy
E _ D o
(Lo
B C N
b
(1) 2.8 cm (0.2.) (2) 2.1 em (o) (3) 3 cm (RoD.)  (4) 3.8 cm (Ro.d.)
36 If the radius of a sphere is 3.5 cm, then the volume and total surface area of a sphere
Q
are respectively ...... (use ©=—-) LOY
7
539 343 S
== 3. 2 2 \\3.) il Y 2
(1) 5 cm?; 77 cm (2) — 2 (5252 cm
539 . 539 O
3) 5 cm3; 49 cm? | G cm?3; 154 cm?
28 A*o By, Wsﬂ'do 3.5 20.9. ®ond, %o By, HH0HET0 HBAKL Iboa'y'ééea
22 O
Dwergen HHOIT ... (T e I S DHw) L0
Q
539 343 Lo 147
(1) o ® 200.90.; 77 5.20.5. (2) 2 CRED e 5.200.20.
539 53 2
(3) % ©.20.2.; 49 $.200.5. €)) 3 .20.00.; 154 $.320.2.
SPACE FOR ROUGH WORK / 4 30 $tabosess gois
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37 If the total surface arba’of the cube is 864 cm?, then its volume is .....

L)

(1) 144 cm’ @) 1728 cm? (3) 3174 cm? (4) 576 cm’
\O

B0 BN, HoRrsde BTego 864 $.70.0. @B, Grd D HOBPEIY ...

(1) 144 20D (2) 1728 w.2od.  (3) 3174 30D, (4) 576 H.%0.D.

o
38  The value of cos60° €os 30° —sin 60° sin 30° is
"2
O
cos 60° cos 30° —sin 60° sin 30° diogy Dews

-3

; .
1 3 @ ? 3) 0 “ 1

)
U
39 In the figure, if AP afid AQ are the two tangents to a circle with centre ‘O’ so that

L
Z0QP=15°, then 4?14}’: .....
) :
(808 Hersne® ‘O’ So|Bore Ko $)zd8, AP woaxw AQ ev Bok $)80pen BB

ZO0QP =15, wond LOAP= ...

r‘-»...,
1
L.

1

(1) 15° (2) 60° (3) 30° (4) 450

SPACE FO}‘_t;E?ROUGH WORK / 0 98 Seronosadd oo
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AUl It the angle of sector is 30°, then thé_areq of a sector of the circle wnth radius 7 cp

i (use n:iz_) R .I : st . ; '
i & o ] 3 154
2 S delogg e m

o By a‘gz&vgo 7 20.%. a:oom ‘.'oﬁtb E‘s:ao 300 ®ond, Y yogsﬁn

22 :
. (= - o S HEW).

R ; 3 VR 0 0 T 154
(1) = Sd. (2 % Sw0d. (3 -!372- S0, (4) —— S0,

41 1If a right circular cylinder has base radius 7 cm'and height 10 cm, then its volume
ISR (use T=—). o Nl 3 | |
(1) 154 cm? (2) 440 cm®  (3) 4400 cm®  (4) 1540 cm?

a..éLéa‘n RETE ;ar:ao &»éa_e;iyvsa-do 7 'ho:b :»aomaa; 10 20.2. $9A dod, o9

| 22
2% 5P ... (n o T émrmm)

(1) 154 ;p.-m.;b;. (2) 440 mmb (3) 4400 . m:» (4) 1540 0.5,

42 In any AABC, the value of Sln[A;B) jo A

g AABC & sin[A+B] Sy e T

C 0sld o oy 145?08(*‘23)

k%

The angle between a tangent to a c:rcle and the radlus draWn at the pomt of I

)& atﬁ;‘ézp& K)Qd;aoda@ oo hr'.)a& arga)o-as '-'»GSS 3‘(9::» R
1800 . @90 NE) 450 | (4)‘ ‘600 A

St ,g}:
3 10 Lt P o) A ; B0 )
B s el RO,



44 If the ratio of base radii of right circular cylinder and cone is 2 : 3 and the ratio of
their heights is 3 : 4, then the ratio of their volumes iS .o :

[ H)grs e Prido Hdos Fohy gy &r wgrore RS 2 : 3 Hox T Jhe
8 3 1 4 eond, 6 w3 WErEre AP ... |
M1:1 @) 4:1 3) 9:8 4 1:3

45 Find the arca of the shaded region in figure, if ABCD is a square of side 14 cm, APD

and BPC are semicircles. (use 7= 7)’

14 cm

A

14 cm

D C
(1) 10.5 cm? 2) 21 cm? (3) 42 cm? t4) 154 cm?’

(800 Bt%0&® ABCD $&d b0 14 0., APD HBotn BPC ©f Sygren, ©ond
' : ¢ T3 )

| 22
%8 Db (@08 Proghn EHFD®. (T="" ™ S0E i)

. 14 ?oo.?m

D
(1) 105 3305, () 21 S2od.  (3) 42 530D, (4) 154 3705,

SPACE FOR ROUGH WORK / D& 98 $tronotiels gois
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46

47

48

Empirical relation between Mean, Median and Mode is
(1) Mode + Median = 4 Median — 3 Mean

(2) Mode — Median = 2 (Median — Mean)

(3) Mode — Median = 2 (Median + Mean)

(4) Mode + Median = 4 Median + 3 Mean

- ew, Hesg K8 O wEHvEER G B g8 BooGER

(1) w:m#ém + g 80 = 4 oesg Ko — 3 Wiy
(2) erdrowssny — desg s = 2 (Scg (s — i)
(3) eridrovdin — Sesg Keim = 2 (dg A + Wikw)
(4) ersowsn + Deg d8sn = 4 Deg K + 3 B
What is the median of 47, 52, 57, 62, 67, 72, 77, 78 ?

47, 52, 57, 62, 67, 72, 77, 18 © g
(1) 62 ()67 S (3) 64.5 (4) 69.5

The angle of elevation of top of the chﬂ' from a pomt 300 m from its foot is 60°.

~ Then the height of the cliff is

a8 Fod wdoth e,mso $08 300 h)ead &80 08 Eod B ero 60° aaess o i,

49

§°0d .Dé:

1) 30043 @ 2003 NE) 3;?9 @ 2\?_0

A person is flying a kite at a height of 30 m from the horizontal level. The length of

string from the kite to the person is 60 m. Assuming that here is no slack in the string,
- the angle of elevation of kite to the horizontal level is

a8 908 B3 Br0SS ow H08 30 Doy St MOk IoSEpT Y. ™D Bho 84

8.6 Er@e Sehennr éﬁaow @08, v H58 Hod n‘&a’:e)o éd Sy, PEH 60 . wand,

' ‘_ © MO0 §8e ©5r08E Frons® Sk Sy '
e s B) 3087 @) 90°

ehts £y and E2 are mutually exclusive then EiNE, L
' :'Ez e B35 508 Sogoeden wons, B N E, =
2. (2) 1 .' Gé @) 0.5

2. [ PTO.



51

52

53

54

55

Find the missing value of “p” from the following table when Arithmetic Mean is 3.55.
|Bob Sgrodo ¥y ©of dggo 3.55 wowy, “p’ Sy, dewd

x1112]3]4][5]6
Flglo|pl16]9]8
(1) 10 @) 9 3) 16 4) 8

If no value of an ungrouped data is repeated, then which of the following cannot be
determined ? .

(1) Median . ) Mean (3) Mode (4) None
28 038 asa-oéoes"a Denden Hsordyso S, i (808 IS* B L TB.
(1) Sesg Ko (2) “en (3) e EAD (4) b =

The price of the fifteen shares in rupees are as follows :
46, 25, 11, 73, 73, 59, 28, 25, 73, 30, 25, 8, 25, 80, 25.
What is the Mode of the price ?
e R @) GBen Eraraved® & (8od Aorr GTm)aw.
46, 25, 11, 73, 73, 59, 28, 25, 73, 30, 25, 8, 25, 80, 25.
w08, © 8o BE) WIS Jod ? -
(1) 59 @) 73 " «(3) 25 “4 1

2 .
If secO=—=, then cosO=
V3

2 j
secB=-ﬁ ®OoWD, cosB=h '

(1) ﬁ (2) = (3 = 4) T
> 7 7 7
The value of 601 49 ~ s

sin 30° + cos 60
cot 45° ;
— S, Dewd
sin 30° + cos 60° , _
(1) 2 . €2) -2 3) 1 4 -1

SPACE FOR ROUGH WORK / 9 508 Seronoseds gomn
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Cs6 If P(4) ;%, then P(4)=

P(A);% wons, P(4)=
o ol 11 oL | 19 g o 14
35 Diierentn S i s

57 A box contains 7 red marbles and 9 green marbles If a marble. is drawn at random
" from the box, then the probability of not getting a red marble is-

28 DS 7 Xy Bden BBt 9 B8y HPen o, DB wod oxrcsaaason- 28 £°92 B2,
b ada:g B0 590 et o Bogrigs

. 13 9
-— - — 4) —
[ 16 | (2)_- 16 ®) T6- kB e
§8 The value of tan 26" -tan 64° is
. tan26° - tan64> Bwg; dewsd | S i @
B - < ()2, 1w SRR

&)
The angle of elevation of the top of the tower, whose height is 15 mts; at a pomt whose
jance from thebase of the tower is 15 mts is - rim

5 8. m;s Bozod ad ek grtfo od 15 . m-csoes" o8 aagom, :Joaio ) ?,Mo

' éom asgs S o i &

- (2) 45% - - (3) 30° - @) 60°

- "‘l“‘

~ [1+sin®

e

iIE e
L s CE o G=, 83 8

¥ 3 -
e L ianiXs B i 2

_ e
A €) S“°+°°s9 ) sm9+tan0

— e ———— .




SECTION - B.: PHYSICS (@88 wag |

61 Convex lens is used in the microscope due to the following reason
(1) It gives diminished image
(2) It gives magnified virtual image on same 31de of the object
(3) Real image behind the screen
(4) It gives magnified real image on opposntc snde of the lens

DENS & Howrss o) dsmmm_;vdq |
(1) 2%y3% 300w ok 2

(2) ".chBES Ibqvg (©8802rd) HY aélﬁoa bﬁadn‘.bm
(3) 86T e [H8Dowo DY

(4) 3% Des (3Bowo S8 15888 BFS* ASYHHH

62 Air bubble in water behaves like a S

(1) Converging lens sk o ) '(2)" Piano convex lens-
~ (3) Diverging lens S Tty (4) None
o ‘Wéoﬁmaw&désé&éow&émoa '
(1) Bobese swgaw L (2) shde Hogrss Sk
(3) TBoldsdem Seosin | (A 28>

" 63 . The mirror used by dentist is :
(1) Plane mirror ~ (2) Concave mirror
) -Convex RIeIE s o (4) None

(2) E@)d:l'wd 6839::»
@) Yo s

curvature of a spherical mirror isI16 cm. What is the focal length ?
(2) 8 cm (3) 24 cm . (@) 32cm

Ly a-gﬂ'do 16 0.8, ®oNs, B8 o FIgosL0 Jod ?
F;-s_m:n (3) 24 mtn 4) 32 2o.d.

UGHWORK/ D& 308 Seravosads godn

LRT.Q.
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65 If the refracted rays from a convex lens are travellmg parallel to the principal axis, thep,

age dlstance is
Equal to object distance
@) Infinity
@) quia] to radius of curvature of the lens -
Equal to focal length of the lens

©0arsS Eh¥o od Hfasito Boss Bowren (Herargd8 Birostor (B00°e808, (588oe .
Gt - |
!

@ :)@ (AU ER RTINS
O
&) oo

E#} SAERVEL angavgvz)g DA HA
(4) ses TYLOSTI8 HhrSdn
66 What is the focal length of double concave lens kept in air with two spherical surfaces
' radii Ry =20 cm and R, = 40 cm. Take refractive index of lens n = 5/3.
@) —20 cm (2 20 cm 3)40cm - (4) —40 cm
a5 thm80 1 = 5/3 Ko a8 OIS E080 DS’ AosuBIB. SbSo GwE) Dot
Hge a»ga»oue.n R =20 0.0, $8ak0 R, =

40 200.2. ®ond, ﬁ&:é-a*e;igoédo o 7

' 8 20 :oof)a " (2) 20 20 (3) 40 0., (4) _40 250.5.
iﬁthe magnification of the mirror is greater than 1, then the rmrror is
' | Concave mirror (2) Convex mirror

- Plane mirror Iz : (4) None

(2) éJongsvd ddam‘a’m
(4) %8 s=c&>

romnN



68 = A virtual image is formed by a concave mirror whemthe object is placed
(1) Between the pole (P) and F * (2) Betwiéen F and C
(3) At centre of curvature ' 4) Beyo@ C =
s éd;)wo GHBPAON KDY B8y :)J@"S @a&wogoawaoé a’:«a:@:\’n oSS Fdo S

(1) s8ym @ydo (P) oy F o g (2) F, Cloxvgg

(3) Hge oo (C) 6 (@) C s esde
| 69 The lens which always give a diminished and virtu“‘)imag'e is
(1) Convex lens ) Concgse lens
(3) Plano convex lens (4) Concave mirror
By o:s;ga'aamog ©8Bowo ahyy K8 )
(1) ®ogrss S8 2) @eyé? E&¥sm
 (3) shde Hoyrsd Sein (4) ersed S6yman
-

70 Which molecules are responsible' for the blue colourof the sky ?
' -usvéo 9. tSorbeﬁ“ ERoSaD8 Trersdnostd O @m@eg%'dm ?

(@) €O, N, () N,, He (4) Ny, Cl,
o :
parts of the eye controls the intensity of light, while entering into the eye ?
| ciliary muscles (2) Iris and pupil

4) None

@) :mmg;) SR i e R S

@ ey | e

' :relatxon between potentlalcafference (V) and current (/) is &

| 1
L)
—
WORK / 0 #08 Btronosads goms
LA
0
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73

74

75

76

. 7

If area of cross section of a wire increases, while temperature and length are constant,
then resistance of the wire

(1) decreases 5= Lo 2) depends on material
(3) increases (4) none
SIS woaxe S a Pone adyHpr weEgBYE Era"e)go 2008, 84 By e
(1) Sepebson et (2) dwgoD weresd dotwod
(3) Hhebod “) b&écs;
Least distance of distinct vision is
(1)s25:m¢ =533 (2) 25 mm (3) 25 cm ~(4) 25 km
D)H Sy 8 Srddn =y

M 25> - () 25 2.5, (3) 25 0.t (4) 25 8.
When whlte hght is. mc;ldent on a glass prism, the least deviated colour is
(1) violet ~ (2) orange (3) red (4) yellow
e H8o ﬁhcs 803 s*08 oaéts‘a?nma}:ds 88035 sedo B3 508 Sorh
(1) & e (2) w00 3) Xy (4) 559

Which of the foll_bwing’ eye defect is age related ?
(1) Myopia (2) Hypennetropla (3) Colour blindness(4) Presbyopla
s 808 e3S° 50.'6:(‘035‘ 5B S B0 96 ?

=M GRS cse)g; ’ (2) Bg Sy 3) égwdés‘:m (4) Sergsin

Sensation of vision in the retina is carried to the brain by

(1) cornea - (2) ciliary muscle - (3) optic nerve - (4) None
5708 dodered Beﬁv $08 DEBHH SEEDD

(D) sojarr  (2) Bass odores (3) B wber (4) DD =y

(3) oersterd (4) gauss

(3) ©ansgs - “4) o8

18 Sl ~ [PTO.



79  Choose correct option regarding magnétic lines of force
(1) Intersect near north-pole or south pole
(2) Intersect at the neutral point i
' (3) Never intersect each other
(4) Intersect at the midpoint of the magnet

©aHy08 E|é wo Bwe (00D WBHEA) JoHod.
(1)’ 688 B B8 ybo GBS Podoid Hotron
(2) e Dotk ¥4 wodoidd Koérow

(3) STISES Rpd podoHe’y

4) eaxsaog,oeso m;g Hothr) 58 POBOBHOETON

- 80 " Which of the following converts mechamcal energy into electrical energy ?

(1) Motor  (2) Battery ~  (3) Generator (4) Switch
1800 a»eses‘ o.ﬁwo@»é 489 dekogs asam Er5)0 26 ? -
gBaEs(1) Bréﬁ (2) argesd (3) ex0eb C(4) 335
S8 U -
*SL Whlch of the following pair of devices measure the same physmal quantlty 7
Ammeter, Galvanometer (2) Ammeter, Voltmeter

Galvanometer, Voltmeter (4) Ammeter, Ohm meter
méu»oes‘ 99 &8 8BS 0°3 Fewdrow ? '
, gD’ _ (2) o5, FSw&E

’55 é‘gm_ﬁ e (4) ohyeb, by &8
(@) Cument.
(4) Electrical resistance

(2) AbgB i
 (4) g8 Bsss

SH WORK / 0 398 Seronousnds fom
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83 ' Find the current (J) in the followmg circuit diagram
1808 aésaa&:& Soan0s® g8 wariro (1) Dend o8 ?

5Q 10Q
AN
SRRk 30 _ |
(1) 54 () 44 a(3) 3A - 4) 24

84 Ina c:1rcu1t two or more re31stors are connected in parallel. Then the followmg quantity
is same for all the resistors 2
(1) Potential difference : - (2) Electric current.
(3) Resistance _ (4) Heat
2.8 Beanos Boch B ©os¥od %75 Dﬁsqren ::?{:J'oédom Hogrloted Gar)on. edpd

o) Werob 8od F88 03 23 Aore B0wod. '
(1) a)nagaraes s ; _ (2) debog8 l;m:rm

- (3) g8 dfsss (@) %48

5 Algebraic sum of potential differences in a closed _looﬁ is :
(1) one (2) equal (3) zero ~ (4) none
. o8 Bk Soanost PBINS Bare Head Bodin

B oms sy () 563

‘"the']ength of the conductor which is moving with a speed of 5 m/s in a direction
ar to the magnetic field of induction 2 tesla if it induces an emf of 107
the ends of the conductor.

@) 2m 3) 3m L b
308 OB Folds EONS FE 04 wowore 5 /3 '5(105‘ Seoendi)
e 10 V :)cs.)savaaé 200 L'iﬁmﬁa:&é © &K P&

E*0). 28 () 3% @,

rpTO



87 According to ‘Right hand thumb rule’, if thumb of a right hand mdlcatef: direction of

* current passing through a straight conductor, then curled fingers of the same hand

represent _
, (1) Direction of magnetic field - (2) Resistance
* (3) Direction of induced emf -~ =~ (4) None of these
'$HB BB 5°6%H Bew oS’ 195780 &8 H& 38 Féxd Ben Hrorr ¢o8 Tirod® g BFD
DY, o8 DS HEDS ey — % Grdpaw.
(1) SOy 08 B8 &% (2) dPesaw
() (o3 dbgemyoswoo B8 (4) s

88 The magnetic force on a current car'rying wire placed in a uniform magnetic field if
the wire is oriented perpendicular to the magnetic field is | -
a8 55 ©adp 08 §5d8 wowom &) AhHgS (o o SR ma% 2080

(1) F= ' = F=— F——-
(1) F=BIL (2) F : " 3) = 4 BL
. Electnc current carrying solenmd behaves like

(1) Bar magnet , (2) Horse shoe magnet

(3). Insulator : (4) Steel rod

: {é’ﬁ:"i’m‘n‘u PoFond aer (55000 :
o - (2) fh|Borrd @anry 080
(4) aey 88

(2) Lenzs law
4) Faradays law

(2) B0 daHdn
T (4) 6B JaHdrdn

5 WORK / D 8 BeronosaBd Hoio |
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91

92

93

94

95 Plaster of Paris is
06 © 085 L

S RS

SECTION - C : CHEMISTRY (82008 @°&950)

Which of the following'molecules has a triple b,énd ?
88 1808 a0e3S® & @m{))-@moqal 50n Gotwod ? SR
(1) O, () N, @y ey 4) Cl,

Which of the following is not an ionic compound ?

(Bod a°§3e55 P .\’)ﬂ)&#&d 528 20 ‘? : ' __

(1) Na,0 (2) MgCl, (3) BeCl, g3 (4__)' NaCl
The gas formed when Zn is treated with dil. HCI is

208 Seso HCL & 3563 282008t 61 TPo0R) —

Moo, @ algyom e S Sty

The molecule in which the central atom has one lone pair of electrons in its valence

~ shell is .
"{m',‘ig DEHre ) ;-'g,e,gb ggst S aotsn ng-"jsasqm _a:)l gm{,) , -‘\;-EI_‘;EI} :

(I)FCH, 50 0+(2) BFy (3) Becl, -'="-"(*4)T‘=’NH3'

[ P.TO.



Y /s The compound formed in the followmg reactxon is

- .. 170° \ 4 L
CH, - CH2 OH T 150, !

& (800 x‘.SdgeS‘ 5 et D6y 7

i iz S R 170s s bl
BT VR .
(1) CH;CHO .  (2) CH;~CH;  (3) CH;COOH (4) CH,=CH,

98 What is the prefix used for functional group aldehyde ?

('1) —al, 2) -ol _ - (3) formyl (4) hydroxy
©drh ﬁ{i&oﬁ Bariroh ABEPACT Frog B _
(1) gé’ o (2) &5 3) ¥36 @) y@fsb-'

HA "t ks Iy

99 Functlonal group present in carboxyhc acid is
| 8-5‘353&5 esaﬁ)oeﬁ‘ aoé Loo'éao.ﬁ amra‘svm =
(1) CHO '_'_ _' (2) - COOH (3) - CO - (4) - COOR
‘100 The gas llbcrated when metalhc sodium reacts wnth ethanol

.ms‘a & es‘:s» FFdaso tscsg asbﬁéwyd: BenSA TP |
B, Hoee ("1 (3) Co, 4) co

(72)'-,0_,,11,. ) CHL b e

.Eiess Bobs mot> DB ? _
(3) CHe CH,  (4) CHy, CeHg

[ PT.O.
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103 How many molecules of hydrogen are present in 10'g b hydrogerl ?
(1) 6.02 x 1023 molecules (2) 3.0£2 1023 molecules
() 6.02 x 1024 molecules (4 3.01%102* molecules
10 o &S TahHst ), 3r (&S vewHen Soeibl ?
(1) 6.02 x 1023 eengyen e -2 3, 01< 1023 wHD
(3) 6.02 x 102* empen (4) 3.01 x 10%* oHen
| o

| 104 Identify the correct ascending order of energies oforbitals.
©0)ere) ¥8 6B (K08° BO@D d) HBo$0B. L)

(1) 3S<3p<3d<4s (2) 3s «@s < 3p < 3d
®3) 35 <3p <4s<3d 0  (4) 35 €3d <3p<4s
_ ) :

105 The total number of inner transition elements in the modern periodic table is
B WHOS Be3ESD Boego L0885 SIS Barosee How
(1) 10 ' | PR (3) 28 % 4) 32
106 What is the molar ratic of hydrogen and oxygen j:‘:)the formation of water ?
TS woan ssbaﬁ S85r08 A A $6geS® Hﬁaﬁ DBask w8yaSe Iré 3
o ? oy
dlnil: 2 (2)2: . Bl '(4) 2:3

'*”:,{,- 107 Which of the following quantum numbers describes the sﬁatial oriehtation of orbitals ?
g | e (Bod ;;néﬂef ;3 S°g0&0 Jowg, Wb )er¥) (B3 mz%g#:)l Ben)r0d ?
T (1) hae | ) ¢ | (3) mf@ ‘ (4) m
k1" W

ing of electrons in orb1tals starts only when t@\avallable degenerate orbitals are
'filled” is stated by

Q
RaEl) Pauh s Prmmple
(4) Bohr’s theory

R | - :
: (2) 28655 dovtoin
) ﬁ@mm bl

! 24 [ PT.O.



09 The flux used in extraction of iron from haematite is

DB od 08T B So|fRrodiip ¢hErAoD (5570
(1) CaCO, (2) Sio, _ (3) P,0s (4) CaSiO;

110 Pyrolusite is a ore of
Berg 5 ) o By cpc-égz@‘? 3 '
(1) Mn @) M) (3) Hg @ Zn.

111 Amorphous allotrope of car‘li%n 1955

(1) Buckminsterfullerene (2) Graphite

(3) Coal : < (4) Diamond
S6)S BnE) 0888 Errossmn
(1) =SS HdS (% @) S
@) & L (4) e
112 Nature of non-metal 0x1desé§ generally ;
(1) acidic ) bach (3) amphoteric (4) neutral

o&°Fy) ¥B)Ben avcp"dwom EOR Gotran.

) ey zqge,ra»:);_ @ gosgred) () ogigEwdy  (4) sepsgwed)
. - - s ;

13 In the process of calcmatmﬁ} the ore is heated in the
(1) Presence of O, CD ' | (2) Presence of reducing agent
Absence of O, D (4)° All the above
500 > [HES® ana%}ﬂ» 58 Sam.
g0 (2) ¥o%s°0e3 Sgos®
otherend® Bom C(4) pdyow

f the 'followiq?;is not formed when metal carbonate reacts with dilute

[0)) C%on dioxide (3) Hydrogen (4) Water
'.'ms‘ 958 asbﬂ;ﬁ:éyé: & (800 TS° ABYEIB A6 ?
RO a%.s datrByE  (3) m&s N OR

&H WORK / D 508 Beranosadd SSE
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- 115 Which one of the following molecules has higher bond angle?
1808 re3&° 7 5 20¢sSewo o v wa s '
(1) H,0 (2) NH, (3):CHg: . *". () BFs
116 The electronegativity difference bctween the elements ‘A’ and ‘B’ is 3 then the bond
formed in AB molecule is

(1) Ionic bond (2) Covalent bond (3) Slgma bond- (4) Pl bond
‘A’ Hoaos ‘B’ &3 Both diroste g enves rger ey ¥es 3@ 3 408, AB vmHS® &)
(1) oatrdgwogin (2) So@rados wogin (3) ey wogdy (4) Pwogdn -

e - 117 Which of the following represents the correct order of electronegativity among halogens ?
| (808 836 et Alngy SOMS anedbgmre) &8 (€00 96 2
(1) F>Br>Cl>1 s (2) F>Cl>Br>1
, (3) I1>Br>Cl>F By (4) Cl>F>Br>I

e 118 Elements possessmg atomic numbers 3, 11, 19, 37 belong to o <= black
b 3, 11 19, 37 S65ren owg Ko drosed __ 2rH®H Boderaw.
. | (2)p_ _ ROK @t
- The element dlscovered in the place of Eka—Alunumum is : : ‘
Scandium (2) Gallium (3) Germanium  (4) Boron
~oergRiono e Lomminds trotin TR

: (@) mBoso () Byt (4) Sors

@) analloy () a,ndn-mfeu_a o ('4)'_"5,".@@1.5_5(1 |
@ oo S (3‘) 96‘3'*6:3 (4) wm

"-"-""‘T,'-'

g "'”"._ROUGH WORK / 2% ms ‘éé.s-onoz‘.’m&:) a:aoa»

f 1 2 . . LI 3 T
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SECTION - D : BIOLOGY (7°%9:)

121 What is the slurry mass of food that forms in the mouth due to chewing called ?

(1) Chyme ~ (2) Chyle (3) Bolus (4) Pellets
Showo $9 6 saxrsahy e Brbd g Jod ?
1ys» - () 38 © () B L (4) $Psen

© 122 The Ova (Gametes) produced by a woman contains how many types of sex

chromosomes ? _
| % Bodrd dered® (@odod®) N) Ssve Bond (EBrdven SR ?
1 2) 2 © ()3 @) 4

123 Which acid renders the acidic pH'in stomach for the activity of protein digesting

enzymes ?

9 wivo S0 dordanos™d pHb ehotvdone are) @i dgo B BS Sege
&5 hod ? |

(1) HCl - (2) H,SO4 (3) HNO4 - (4) HCO4

124 According to Mendel's first law _thé- monohybrid phenotypic ratio is
oBS TS Gr(do (50 DE K0S Syds B AKYB Jod ?

Hn3:1 () 4:1 <8y Lel ™ ) 12271
125 Which hormone helps for the long time storage of seeds ?
"~ (1) Auxins: (2) Abscisic acid (3) Ethylene (4) 'Gibberellins
9 H6°0 MTon Jpd 00 Jog $0SaI8 HFAnHHHE ? .
(1) &8sy . - (2) eaé]a?oﬁ—e@ép (3) 2608 (4) 8209

126 Men produce sperms f"rom which age onwards ?
(1) 20-25 years  (2) 8-10 years ~ (3) 18-20 years  (4) 13-14 years
Hthived® O donk Dod HEE)B Fogo v ? |
(1) 20-25 %o. (2) 8-10 %o. (3) 18-20 %o. @) 13-14 %o.

3

SPACE FOR ROUGH WORK / 4 08 Seronoiseds gois
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127 Flowers having both the stamens and cérpels are called

(1) Asexual . (2) Conjugation  (3) Bisexual (4) Unisexual
80759 DB WoE Ho ToBoL ¥OA &) P Job ot ?
(1) ©8ons (2) %oarigo - (3) 8gdos 4) H8ors

128 Which of the following organisms:exhibit regeneration ?I

(1 p laﬂaria ' (2) Homo sapiens = (3) Pavo cristatus (4) Naja naja
" & (808 dHos® DB HHHEIBD WrH ? |
(1) $Roowr 2) e WanSy () >F BReS  (4) T TE

129 What is the process of joining two stems to grow as a single plant ?

(1) Layering (2) Grafting (3) Cutting (4) Conjugation
Both sromren 0% Fow &8 By DR AFe) Johd ?
(1) wotn E&pes  (2) woto Stoes  (3) Pessaw (4) Soatwrizn

130 Diabetes is related to this gland

(1) Pancreas “(2) Thyroid (3) Adrenal (4) Pitvitary
PR argH8 dowogo &) (508 | :
(1) $owo  (2) goowd (3) ©oBy8H0 (4) Sosrd

131 Dodder plant (Cuscuta) belongs 10 ——— famlly
(1) Malvaceae (2) Rutaceae (3) Rubiaceae 4) _ Convolvulaceae
worrds B Ty, (§67558) enowrd8 BoBIo. | |
(1) $r8g> (2) &rdd (3) ErBARY (4) Srgeng®

132 Energy currency of the cell is called

Ee00 BEY 8 565‘33} ___ eotrd. |
(1) ATP (2) AMP (3) NADP (4) ADP

SPACE FOR ROUGH WORK / 9 98 Seronoseds godn
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133

134

135

136

In Chloroplast chlorophyll is present in "
(1) Stroma (2) Outer membrane
(3) Thylakoids ' (4) Inner membrane

0B S° HETdS0 &° Gotnod. _
(1) P C(2) wrirg 8
(3) Posank) | (4) &0 6

Deficiency of vitamin leads to fertility disorders.
DS S0 Hoerd )8 g 8O

(1) A (2B (3D 4) E

In which year was Kolleru lake declared as a Bird Sanctuary |
D B0 st EB w5y 1§ Hosgs Soorr ESoSdo w0hod ?
(1) 1989 (2) 1999 (3) 1979 (4) 1969

IUCN (International 'Union" for Conservation of Nature) was founded in which year ?
TUCN (20&38)3%%6 oo $5 BouBShS & 56) @ &oa’)éadoé" 8 yB0d ?

- (1) 1948 (2) 1958 (3) 1968 (4) 1978

137

138

139

Women have which type of sex chromosomes ?
dneos® £0A aod Bons [t D ? , |
(1) XY 2) YY 3) XX - (4) XW

What is the name of Darwin's ship which he used for world voyage ?
(1) HMS Beagle (2) KVS Don (3) LML Vespa (4) Titanic
@BgS [0S g0 0T FEH SHAPAODD T W e ? '

(1) HMS 8pd (2) KVS@§  (3) LML 3r) (4) BerdS
Coal, Petroleum (oil) and Natural Gas belongs to which type of fuels ?
(1) Chemical fuels (2) Fossil fuels

(3) Sunlight ~ (4) Water _

&eh, DG Do DO Wre TP o 5578 TodS Bogrey ?

(1) SrandE moBren ' (2) Bera q0GTeD

(3) ®rdgseod s 4) ¥ |

SPACE FOR ROUGH WORK / D& 538 Stravosseds gosy
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140

141

142

143

144

What are the inter connected food chains called ?°

(1) Food web (2) Food stock  (3) Food scarcity  (4) Food link
S Fevive vbdoETd) Dot ? _
(1) e erotitnn  (2) eBFSwomdin (3) wifs &84 (4) &8 20880

In which chamber of the human heart the blood is low in oxygen ?

(1) Right atrium (2) Right ventricle

(3) Left atrium (4) Right atrium and Right ventricle
PSS HoBS D o K56S° dod 6506‘ w8yl $5)Hm dotwod ? B

(1) ©a g8 - (2) & =0

(3) s 898  (4) ©A 508 Do HA 2808

The alkaloid used as a sedative is _

(1) Nimbin ~ (2) Quinine (3) Nicotine * (4) Scopolamine

a&:@ﬁaomn‘ GHArAOD vep erand — . :

(1) 2085  (2) 835 (3) 285 (4) B)PeDS
Rubber is prepared from . plant.

(1) Hevea braziliensis ' (2) Jatropha

(3) Neem . (4) Mimosa

B2y — gy ©od doxrdy BavkErod.

(1) St BAOBANT “F 0 (2) z&t>

(3) & S (4) PR

An Aphid pierces its proboscis into the

to get plant juices.

(1) Xylem (2) Phloem sieve tubes

(3) Cambium (4) Pith

58 DO YO SFeH Fosad’ @) Folod - &°8 )00

(1) oy . 2) @"a’;é Seoere0&td w@g}.a"v‘m
(3) daresg SeodP 4) -da‘:}g

SPACE FOR ROUGH WORK / 9 208 Seravosadd g
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145 A person has loss of control on emotions, which part of brain stop its function ?
(1) Cerebrum (2) Diencephalon (3) Mid brain 4) Cerebellum

| DEHSTD D grrfo @ HBGD DO, 28 B8 &I ar&‘ésmu 2 :Joﬁo@m g6t yercd ?

(1) ®¥yo (2) argstdo (3) g Dok () ed :».mg,o

146 Excretory organs in Reptiles are ; : :
(1) Nephridia (2) Green glands  (3) Kidneys = (4) Flame cells
G 653 RS b e :
(1) 3eBos» | (2) 568 fowes  (3) wrdomes  (4) wrgen Swre

- 147 Stethoscope was discovered by
(1) Linnaeus (2) Mendel (3) Rene Laen__nec' 4) Maheswari
AT EOFS) TS SR Lo
() 8Bats () WodS 3 o aa;E (4) 3rg0

48 Lenticels are the respiratory organs exists in pan of plant
(1) Roots. -~ (2) Stem (3) Leaves ~ ~  (4) Flowers
" ot dolgren R sy B0y ariodh ) Tgstd oSoTe.
- (2) sodiw 3) e . (@) prye
" ‘lants-respire with their A
roots (2) Tap root (3) Rhizoids. (4) Scales
& wgdyow. s bic-:
() 9% () DrowB)y  (4) dedwer
.j.l‘i;ngsafeca‘ll_ed = o
(2) Alveoli " (3) Bronchioles  (4) Air spaces
o6 z)u'gwoz\‘» ©otrd. o

mo@fﬁww (3) ;P‘gwom : (4; rd Hc.’nen

UGH WORK / 0 %98 Seronoisadd fobo
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